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PART-A (I -9=)

Q. No. 1 (a-f) carries 1 mark each 1x6= 6 .

Q. No. 2 - 7 carries 2 marks each - 2%x6 =12
Q. No. 8 12 carries 4 marks each | 4x5 =20
Q. No. 13 & 14 carries 6 marks each 6x2 =12

Total = 50

PART-B (% - éﬁ"f)

Q. No. 15 (a - f) carries 1 mark each , 1x6="6

Q. No. 16 - 21 carries 2 mar-ks eaclt 2x6 = 12

Q. No. 22 -26 carries 4 marks each : 4x5 = 20

Q. No. 27 & 28 carries 6 marks each ; 6x2=12 -
' | Total = 50

Total (PART A & B): 50+50=100
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PART-A / 3-5I25

(- , 5
What does a Production Possibility Curve indicate ? 1

BeAvH ABRY @R F [t 12

If an increase in the price of good X increases the demand for good
Y, then how the two goods are related ? 1

IR X @R R @ Y WK 5iRA @ @ (o0% 5 9o [ @@

Total Variable Cost (TVC) will be __, when total product is
zero. (Fill in the blank)
' 1
T B Y (R SRES, b ARSI X 77
| (=T 312 293 39)
A firm earns normal profit when — 1
() AR>AC
(i) AR=AC
(i) AR < AC
(fv) MR =MC (Choose the correct answer)

Q¥ AP FOIRT e Wiz I aﬂ%zn_—'

() AR>AC

(i) AR=AC

(iii) AR < AC A | N

() MR=MC |  (om Gewdl AR GEed)
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() In a centrally planned economy, which of the following takes all

economic decisi.ons ? 1
(i) Central Bank

(iz;) Market

(iii) Government

(iv) Both Government and Central Bank

FEIA SR S qiTe S Pz AERERS Wi
SRR 2% 2

N AT @A
(i) ISR
(iii) HITI

(v) FHW AT AF 595 o

(» ~What are the shapes of AR and MR curve for a firm under non-

competitive market structure ? _ 1

gl efrifer TR TEfs efbi MR TG W S e S
@AT S A 2 ' ) ‘

2.  Mention two reasons that give rise to economic problems. 2
TS T TR (AR 7O PR S 9|
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What is a budget line ? Why does it slope downward ? 1+1=2

AEH (@A [F? @3 @R o F7 [maiie

If a unit tax is imposed, how does it impact the short-run supply curve of

a firm ? Show with the help of diagram. 2
Mz ¢FF I AR T W, (903 AR 94T TR (@I (RF
@R geie SRA? Baw Azme @myedl| - '
What is ‘break-even point’ of a firm ? At which point of the AC curve, a
firm under perfect compeﬁtion breaks-even ? ' . 1+1=2
AfSPH G A TFwe-oee 7 2 o aforairon wwfs afsvm 9 oo

A @R @I [ o8 o7 el IR 2

What does price elasticity of supply mean ? Briefly explain. 2

Qiieg v Rfogereel e g@ig e
What is a monopolistic competitive market ? 2

iR eferienER T wrEhna aforer Tor f?

Discuss four features of indifference curve. . 4

Rarors QR 510 3P st 11
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9. Define and draw average cost and average variable cost curve, Why these

two curves can’t touch each other ? 3+1=4

WWW%WWH\@T%QHWWTQMWW@MWI
3 JIAGIE @@WWWW TRIE 2

OR/ w2t

The Total Cost (TC) schedule of a production unit is given below. Find out
TEC, TVC, AC and MC. 4

Bt e (51159 I[F T (TC) S+Pivt wete fral (==l ¥ 3" I3 (TFC), I
ARTEPNE I (TVC), 51T I (AC) &% 2ifes T (MC) Sepipt HefRe 3|

Quantity Produced TC

Beoma sffTmia

o 10
1 40
2 60
3 80
4 o5

;5 110
6 1130
7 | 160

30T ECON [5] ' Contd.



10. Mention four differences between perfect competition and monopoly.

11.

4
1 efsraivor IR W Gl TR RGN R
The demand and supply functions of a commodity is given by
Qqs=100 - 2P

Qs=2P-60
Find :

(i)  Equilibrium price

(i) Equilibrium quantity. ' - 3+1=4

OeTo O BRI Wi 5w wew a tarmi
Q=100 -2P

Q,=2P - 60
() ORI VR Wi

(i) SIRARY BeATI AR 1= 41|
OR/ &34t

Explain with the help of a diagram, how shifting of the supply curve of a

commodity affects its equilibrium price and output. 4

w3 GOR (@SN (I IR GAOR SN W< Wi Beomg ARMdF (e
roiiie I oug T T F90 |
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13.

- What do you understand by returns to a scale? Write the meaning of

constant, increasing and decreasing returns'to scale. 1+3=4

Wﬁ%ﬂﬂ{%ﬁﬁs{m?w,m@mwmwmwﬂ
ISR

b OR/ &2t

* State the reasons behind the working of the law of diminishing marginal

product. C . . 4

WW. olifes Besiive Rigx FRePTR ol |

State and explain the law of demand with the help of an imaginafy

schedule and diagram. _ 6"

mﬁmﬁmwammeW@mmmw
I P '

OR/ @2t

Calculate price‘elasticity of demand by expenditure method :

(i) - If an increase in price from Rs. 10 to Rs. 12 per unit lowers quantity

demanded from 25 units to 20 uhits.

(i) If an increase in price per unit from Rs. 8 to Rs. 10 lowers quantity

demanded from 20 to 16 units."

(iii) If a decrease in price from Rs. 12 to Rs. 8 per unit increases quantity

demanded from 20 to 28 units. 2+2+2=6

30T ECON ' - [7] Contd.



I el TRACS SiRMR Ffoglorret sow 4 ¢

(@) oS 9T TR W 10 IR #A<1 12 5RiteT 3fF 2 Sifzm oifksnet 25 aaq
7R 20 G T T |

(i) oS T T W 8 B =91 10 BieeT 3% G IR AR 20 @R
7] 16 9B BT AR | :

(iii) =ifS T TR W 12 T3 <431 8 TN Z31 Z'7E BIHT 20-3 511 28 ST
= = | o
14. Define :-
(i) Total Product (TP) -
(i) Average Product (AP)
(iii) Marginal Product (MP)

Explain the relation between AP and MP with the help of suitable
diagram. ‘ » 1+1+1+3=6

et o s

() T Besma

(i) NG BesAmw

(iii) ST BesimA |
w@emwm@evﬁﬂaw%@mﬁ?wmmaﬁn
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(iii)
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OR/©ig<t
What is prodﬁction function ? 1

TN T I QT 2

What do you mean by fixed factor and variable factor of production ?

Give examples. - " @

TesAm e Somm oS sifseiia Somia e & e SwizaerTz
ferani

The production function of a firm is given by Q =2L2K?2

Find out the maximum possible output that the firm can produce
with 5 units of L and 2 units of K. What is the maximum possible
output the firm can produce with zero (0) units of L and 10 units

of K? _ ' 3

fal wicg Q3 AfSPNR Besive Tem Q = 2L2K2|

5 OFF L W 2 9FF K- SRTS AfSHFAE AKS N (515 7y Besiva
SR ART? o (0) G L WF 10 G55 K-7 FRITS AT BeoAet
R A= A Beotma T 232
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PART-B /4-|2% oo
15. (@) What is the relation between MPC and MPS ? . 1

MPC % MPS-3 i5ig 7>4F ol |

() What is investment ? . - - 1
Rivzan e

() What do you mean by ‘velocity of circulation’ of money ? 1
TR ‘goe sifere Jferea & goe

(d) Who is known as the ‘lender of last resort’ ? 1

‘O /S SRR el I I el 2W 2

() What is government budget ? 1

BTN ATT F2

()  In which year GST came into effect in India? 1

SIS (I 5~ GST PR I 02022
16. Define intermediate good. How intermediate goods are different from
capital goods ? _ ' ' 1+1=2
TGS TG RS 12 | NG| TIPTE AR Al 7GR o o2 e
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17.

18.

19.

20.

21,

What is investment multiplier ? If Rs. 200 crore increase in investment

increases income by Rs. 800 crore, then what will be the value of investment

multiplier ? il . 1+1=2

Rzt was &2 qwez 200 wﬁmﬁmﬁqﬁzﬂWBoo c#ﬁ%asrql%m
cors RiNcal eows 79 Rt 7111

Write the differences between ex-ante investment and ex-post investment.
2

srepifis REGEE =% 1Es (eFs) RF@R i Bl

Mention two points of superiority of Selective Credit Measures over
Quantitative Credit Control Measures. : _ -2
sARmIsS Wl g swfoeis Ffomers wd frmet smfes ghr cerber
Ty 4 ' :

Write two differences between revenue expenditure and capital expenditure.
2

T [ F Al JIS &I 7o Ay o
What do yéu mean by devaluation of currency ? How does it affect the
import of a country ? ‘ 1+1=2

TER SEUEE IR R @ [ER SREEEE o @i Smie AR
FEVR eiife IE? '
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Define GDP. Can GDP be used as an index of welfare of a country ? Justify
your answer. . 1+3=4

GDP-3 @ f&1a1 | GDP-& o™ 92w wqaawamﬁWWW
(SR BEI FAATF & S6BHE1 |

23. How does the central bank use its quantitative credit control measures to
control inflationary situation of an economy ? 4

Q¥ GO @rEIT ol RagiR I @@ @ ARwEs 29 FaEes
wifzarTyR R IR IR

OR/ w23t

Write a note on ‘demonetisation’. : . 4

‘R’z Raw 9t Gt &=

- 24.  What is a Deficit Budget ? Why a deficit budget is considered beneficial
than a surplus budget for a developing economy ? 1+3=4

mﬁamﬁsvﬁamﬁawﬁrﬁ m—aﬁmwﬁW%ﬂ@mﬁ
f2pitet Reaoat o1 =3 e

25. Mention four differences between Direct taxes and Indirect taxes. 4

AT I WE AT FIX SR 5I{57 *ndFy vy |

26. (i) Whatis balance of payment ? 1
ARCIR el (2
(i) What are the two main components of balance of payment ? 1

AR FToR &1 SoAmie gor & e

(iii) Write two differences between balance of payment and balance of
trade. -2

AR TSl S VS TSR 7B AL B

30T ECON [12]



OR/ @24t

Write briefly about :

() Open Economy

- (i) Exchange Rate.
5L fora
) IT S
(i) R =)

2+2=4

27. Explain the procedures of calculating National Income by value-added

method.

WW%WWWWﬂWWWW@Wl

OR/ @2l

From the data giveﬁ below calculate :

(i) GDP at factor cost

(ii) GNP at market price

(iii) NNP at factor cost

(n)
®)
(©
(d)
(e)
()
®
()
(i)

30T ECON

Consufnption Expenditure
Investment Expenditure
Government Expe'ndituré
Export

Import

Net factor income from abroad

Indirect taxes

Subsidies

Depreciation

[13]

Rs. 2,000 crores
Rs. 1,200 crores

Rs.
Rs.
Rs.
Rs.
Rs.
Rs.
Rs.

450 crores
80 crores
95 crores
60 crores
90 crores
80 crores

30 crores

6
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(i)  eAMI TS Y5 /%F T TesA (GDPr)

(i) IS VLS o/ FF TSR BeAMA (GNPyp)

(i) THAm TS R/ 2 TS TeAmd (NNPpc) Sl 1 4 |

(a)
(®)
(©
@)
(e)
0]
3
)
(i)

THSis I
Rfqcast @
5 T
il
i

Rorir =11 [t Soimia =iy

AT 9
SRR

GIFY

oo oo o0 o0 00 00 00

00 3

2,000 =ifo W}
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450
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28. Explain the process of equilibrium income determination of an economy

with the use of aggregate demand and aggregate supply curves.

AT SN =1 5ifzA @RIT TYTS 9

oz Iip =11

30T ECON
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OR / 23t

What is aggregate demand ? Discuss the components of aggregate demand.
1+5=6

AR sifew 2 AT SRwR SowiTE St o |
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